Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Answer the following as directed
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5 Answer the following questions in brief :

(2 )

«Malthus 18 basically Known for his two .

contributions. What are they?

Wwho is referred to as the last classijcg]
economist?
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Who said, “Rent is a differential surplug”?
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Explain the physiocratic concept of
‘net “product’.
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" Mention Adam Smith’s four Cannon’s of
Taxation.
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/LCJ/ State Malthusian theory of gluts.

Q/ (d)
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J. S. Mill introduced a three o
classification of commodities and
thereby extended the theory of value.”

Mention these three types of
commodities.
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of the following
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Explain the statement.
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the distinction between

(C) Show
catural order’ and Adam

physiocratic
Smith’s ‘naturalism.
AR ‘e «RT WE S ~12%

b o h-:---- oy S w & i 2 I{ — o
feam’s TEe ] AT (TS |

21 {d} Mention the three factors responsible
for the crisis in a capitalistic economy.
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(et~ Explain Ricardian theory of rent.

& Answer any three of the Ilollowina
questions : 10x3=30
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e Y} s gy s
(@~ What 1s Mercan tilism? Name any

..\/{; rtwo mercantilist writers. Mention the
" e d 2ol | :
i factors responsible for the growth of
Mercantilism. 24+2+6=10
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Examine

" Economics
countries.
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Critically examine Malthusian theory of
Population.
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economic development.
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What

Quesnay? Explain

a

1

views oOn

<

(d ’?{.:{ - v
—t | o

Tableau

'taxa

e ATl TP
If + f_) w5 ".F:
- ¥ o W - A
& -
T
{J I"___.I| ? t.--‘ 11{ E
% — 1
o
._.-_L - b
~1TFr e 5 T
.4 .- v‘ f
i e - r
1!’__.' L - -
&
. 1
L :
Lxplain Dl
& & a L -
T ¥ I:I' &
i )' 1 1 1"'. | E
oot LA ¥ & . B %A %
SBlad 4 AR 5 | >
i ) . s 4 - ;_h...t-
¥,
Y . Y- TP
i 1 "
- e
. - \ <
) - . s

W

19

'Y . v : r
] . L
™ r 4
v “f'&.; H
1 q
¥ w .
) B
" . T LS by
!
r b | ¥ i .
- & ik
¥ 1.8 -
&
| L
; T
- L .
L
-

=

:
A

*

'

.

r

- ~ S
Examine the Adam oI

& '

T
e
¥ L |
1 T
A A A WA
-
=)
¥ .
- .
3 -
L "
“'I.
¥ =
.
1 -I\.':

P -
NIt S

underdeveloped =

Jol: e o

B

'i-';' A i
" s Py

| i

¥

- mn———— 'Y = ' 4 - _}'""'m ':i?l ‘rrtl!ﬂ‘" r-_
F!”-';’i I: ;'jl"'{'i' ..Ir‘-l i :"' * ;-_{4 {

)

1‘: l (__: T-rx‘ir S () n

F o 'l":'
B— i PESS il
- B £ T F » .
*F ‘*""‘ l;i f’ -7 "I' Nt d‘
4 ‘1 [ ] i ‘J _—
¢
=
g 7 - P
S TY
" -
-
5 L
-
!‘ H LS
h il . 1 L] | Y a - A
= -
] e .
L4 4 4 - — T :
5 - g o -
<&
. - nad -
7 i i - o
¥ L -
-
’ - -
4 - : F g g
4 [ . -
L. _— e
r Y r N *
- - . - = e £
-
- "“ e S 2 A oA o N L™
> 5 o
. i a f
L
& - .
., o
L
&
[ ‘: f st
T s 'i"'J' 4l i .

2021.01.05 17:14




